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de — o wed srfvard g |
Attempt all questions.

() DG WENT BT SART T T
Use of calculator 1s not permitted

A e —() 9 w1 # A9 @ve 7| @re (31) ¥§ 95 Tod uw wue(@) # Raa
®IE B g T @ve (W) # 9 /eMd ¥ U B U U W 1 3@
3efed & |
Question no. 01 is three parts. In part (A) multiple choice question in part (B) fill
in the blanks an in part (C) write true / false are given. Each question carries 1
mark.
(i) TTT . 2 ¥ 6 TP AT TGSNG U & | TP U R 2 3 € T |

Question nos 2 to 6 are very short answer type question . Each question carries 3

marks.

(v) 9T 7 ¥ 10 TP ATAGSTNT I © | TD Y R 3 3P €T T |
Question nos. 7 to 10 are very short answer type question. Each question carries 3
mark.

O JET B 11 W 14 TP AYSN W T TS U @ SaRe e B
Ud UeT W 4 IF IEfed B |

Question nos. 11 to 14 are short answer type questions . Each question has an

intermal choice. Each question carries 4 mark.

(vi) ¥ET B 15 W 16 TP LIESTRT YA o] UId U H AaRe fGwed B
TAd YIT W 5 3P e B |

Question nos. 15 to 16 are short answer type questions . Each question has an

intermal choice. Each question carries 5 mark.

(vii) T B 17 ¥ 18 Th AU UEH 8| YD WEH B ARG Qv &
D Yo IR 6 I A€ B |

Question nos. 17 to 18 are long answer type questions . Each question has an

intermal choice. Each question carries 6 mark.



GUg (31) / Part (A)
ged © (1) el fadheu g foieay — (1x5=5)

Choose and write the correct option -

0 g (~2,3) f&w agafe # srm ?

() =gt =gt () foxha =garter

(W) geirg =qgerte (&) v agaie

In which quadrant, will the point (-2,3) lie?

(a) Four quadrant (b) Second quadrant

(¢) Third quadrant (d) First quadrant
(i) IS Cos® =1 BT O HT AF BN —

(@) 30° (8) 90°

(d) 60° (5) 0°

If Cos@ = 1 than what will be the volue of :-

(b)30° (b) 90°

(c) 60° (d)0°

(i) feoma F9HR 4x2 —4x + 1 & [QISH FHT A9 81T —

(?7) o () 4
(|) 3 () 1
What is the Dicriminant of Quadratic Equations 4x2 — 4x + 1:-
(a) 0 (b) 4
(c) 3 (d)1
) V2 +1aR V2 —1 &7 F=iaR A 8nm —
(o) 1 () V2
(@) 2v2 () 2
Arithmetic mean of v2 +1 and V2 —1 will be —
(a) 1 (b) V2
(c) 242 d) 2

) a8 @rar fogd o gerq Ed e o v 89 w8 o afdy fRwTel o
o © —
(27) fTa<it T @rar (&) Arafer ST W@
() =re], @ (@) w=a @
The account in which the amount deposited can only be withdrawn after maturity
of the fixed time period 1s -
(@) Recurring deposit account (b) Fixed deposit account
(c) Current account (d) Saving account



Wug (§) / Part (B)

g © (1) Rad Il &1 g dIfoie— (1x5=5)
Fill in the blanks -
B 2x+3 33X =2 BT TN BT |
The sumof 2x + 3 and 3x — 2 18-
(i) Foro TREMRT BT T e Tl Bl B
The square of odd numbers is always-----------------—--e - number.
YRk s NSRS
Cuboid has------===mmmm e e head
(iv) T BT B = X g DI e |
The diameten of circle =----—-—- o mmmme e X radius of circle
(V) Sin(90- 8) BT FTT oooooooeeeeeeeeeeee e BT |
Value of Sin (90- 8) 18- mmm e e :
gvs (¥) / Part (C)
g3 (1) 99 /g forfay — (1x5=5)
Write True/ False

(i) o T wEeY B &
All squares are similar.
(i) T ve 95y fog & 90 W IR Wy 3@ EE o1 9@ g |

Four targets can be drawn from an external point to any circle

(iii) T3reTT SUBR MTHY TR T ST B |
Educational Cess is payable on Income Tax.
(iv) Yo § Rera felt fig &1 g 30 &1 2
Abssica of a point on Y- axis 1s zero
(v) 9598 P(x) =x2 —6x+9 BT YIS 1T 2 1|
Zero of the poly nomial P(x) = x2 —6x+9 is1 and 2

geq - (2) IR AIGT® =4x — 7 HTHA = x + 2 YThA = 07 T9 99 [ (2)
If Deviser = 4x-7 quotient = x+2, and Remainder = 0 Find at dividend.

ge : (3) AR} 15145 = 18: x © A X BT AN A DIIY — (2)
If 15:45 :: 18:X then final the value of X
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(4) S WS XGT BT GHDIU ST DIGQ S Y AY § 2 919 BT 3 TS dledl ©

3
ISEEIRCEEIGI] Z g — (2)
Find the equation of the straight line which cuts on intercept 2 from y- axis and
3
whose gradial 1s 7
(5) |7 =TT BIFSTY — (2)
Cos 50°
. + tan45°
sin40°

Find the value of
Cos 50°

sin40°

(6) Tere 10 fawH FReured &7 fTd HT DI | (2)
Find the average of first 10 odd Numbers.
7) k & foa 99 & forg Ry v wiiewer fFomg o afgdha s svm - (3)
x—ky = 2
5X + 3y = —4

+ tan45s°

For which value of k, following equation lables a unique solution.
x—ky = 2
5X + 3y = —4
(8) 210fT 9+124154+18 .o % 16 UGl OB B ANTHS S HIeg | (3)

Find the sum of 16 terms of the series 9+124154+18. ...
() frg IITY @t sl T HwITT T9 FRl &1 AT WM 6 BT IOl
BT B | (3)

Prove that sum of three successive even numbers 1s always the multiple of 6

(10) U 99 & MR W &Fhel 154 I HHL T Sl 10 JHL T | ol &
e ST BIRY — )
Area of the base of cylinder 1s 154 sq. cm. and the hight 1s 10 cm. Find the
volume of cylinder.

(11) o=t aoft b1 sgerd FTd BT | )

TR 30—40 40—50 | 50—60 60—70 70—80

SIEIS] 16 22 5 3 4

Find the mode of the following table —

Class 30—40 40—50 50—60 60—70 70—80
Interval
Frequency 16 22 5 3 4

a1 / Or



T TSl S ATRASHT S BITOTY —

57, 46, 23, 110, 78, 85, 105, 90

Find median is given data -
57, 46, 23, 110, 78, 85, 105, 90

g © (12) 99 W@ 4X + 3y —5 = 0 3T YU 3Ry 3T W FHlel T ATES I

PHITT | (4)
Find the shape of the straight line 4x + 3y —5 = 0 and intercept cut on the
Y- axis

a1 / Or
x & R Rerd fodl g @ Frdens sia ooy i fowgell (5—2) g (34) &
TAGRET 1§ |
Find the coordinates of a point on Y —axis which is equidistant from points (5—2)
and (34)

7o - (13) ol 99 @ o= W5 W AL D I W Rd A 3 A 24 FAL B g BT

N S BTy | (4)
Find the diameter of the circle i1s length of the chord 1s 24 ¢cm. and distance from
centre 5 cm.

A1 / Or

Th SRR TSl 10 WH ¥l B BT BT 8 WAL dd g0 & | S I Th
AR BT BT 30 HIeR oAl Il & | AR B Sals S1a DIy |
The shallow of a 10 cm. long vertical stick is 8 cm. at the same time the shallow
of a tower 1s 30 cm. Find the height of the tower.

ge 1 (14) ] A @ IMMACK BT UK 6427 & | S TRIT SFHA] BT AR T
BT | (4)

Ratio 1s the volumes of two sphers 1s 64:27. Find the ration in their surface areas.

A1 / Or
T S g DI Has 10 FAL T 3R A1 20 WAL B | AP DT I <
HIfTY | ot fordes Sams 1 1 o |
The height of a solid core 1s 10 cm and 1its diameter 1s 20 cm. Find the volume of
cone and Find the slant height.

yes : (15) I <1 Fr(oll & W Ta qonetl &7 AGUId 6 © 4 B | BRS @& eomat &1 guTa
FIT BT | (6)



If the ration of corresponding sides 1s two triangle are 6 : 4 then what will be the
ratio of there areas.
31d1 / Or
(a) TG B1 URAINT B §T SHS! a1 ¥ 1Ry |
Define similarity and write two conditions.
(b) oo8 wmg &1 faRay |
Write the thales theorem.
g3 © (16) YA YRAG ¥ 86 H 150%. URME DI X W 2 99 qP MG ofF @l |
e oar 81 i 1 @1 S 5% a¥e & Al 99 2 9¥ 91 fadel geIi
9% BRI WK & ST | (5)
Karim deposit Rs 150 per month for 2 years of recurring deposit account 1s state
bank of india. If the rate of the chanter of 5% per vear. then calculate how much
account will pay. the bank to him ofter 2 year?
a1 / Or

fFeforaa @1 wHesy —

(a) AT ST Tl

(b) AT STHT @I

(c) =g, T

CEESKEIN!

Explain following :-

(a) Recurring deposit Account.
(b) Fixed deposit Account.

(c) Current Account.

(d) Saving Account.

g - (17) g e — 6)

Sinag 14+Sing

1+Cos @ sin@ = 2Cosect
Prove that :
Sino 1+Sineo
- = 2CosecH
1+Cos 8 sing
31791 / Or
aft x = a cosecO T y = b cosd 7, a1 g Fifew —

xz yz .

= + ol 1

If x =acosecBandy = b cosf then prove that :
2 2

4+ =1

a

ﬁz
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(18) Ifq BT |AIGR S0l &1 p df UG q Ud q &f Ug p & A RE] Ifog &
(p +q )df 92 LI & | )
If P™ term is q and g™ term is P of an A.P. Then prove that (p+q)th term is
Zero.
31dr / Or

FfeRad ot THiaRoT &l g3 & Gl 9 & BTy |

9x2+7x—2=0
Solve the following quardratic equation with the help of formula-

9%%+7x—2=0
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